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1. The infinite series Z a,, has nth partial sum §,, = T forn = 1. What is the sum of the series?
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2. Which of the following series diverge?
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"3. The nth-Term Test can be used to determine divergence for which of the following series?
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4. If b and t are real numbers such that 0 < |t| < |b| , what is the sum of b* Z (—) ? p C )“
/7 Ar

t* - q = éx(tz ¢ jz 3 x 3
=F<l I ‘:’:):L ___:_______

n=0
n=gow

. b -t?
femegr | goa b [
(e mate e Sevies |~ ‘_ __: 5 “2“ b2
\ [,2_,&,1 l




co o2 _.(.
B, o =72 a5 Ao
5. Explain why the Integral Test does not apply to the series Z — — 7 In £ (j&, veas; y {Q\/
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6. For what values of p will the infinite series Z oTe converge?
n
n=1

“*‘C{;q‘\.vﬁr\j{’)‘ ',1,; 3fr-H > |
3p>0C

; >

7. Calculator active. Which of the following series matches the following sequence of partial sums 0.1667,
0.3333, 0.4833, 0.6167, 0.7357,...7
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8. For what values of x is the seriesz(7x;3) conditionally convergent? ’
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9. Which of the following series can be used with the Limit Comparison Test to determine whether the series
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10. Verify that the infinite series Z gz diverges by using the nth-Term Test for Divergence. Show the

value of the limit. n=1
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12. Which of the followmg series converge by the Alternating Series Test? C/ﬁ S“r )
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13. Which of the following series is absolutely convergent?
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14. Use the Integral test to determine if the series Z 31 7
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converges or diverges.
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15. Which of the following statements are true about the series Z( prt—— 7
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16. What are all values of x > 0 for which the series Z converges.
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18. Consider the series Z a,. If % =3 for all integers n > 1, and Z a, = 64,thena; =7
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Answers to Mid-Unit 10 Corrective Assignment
1. i 2. C 3. C 4, % 5. f(n) is not a decreasing function forn = 1.
6. p>0 7. B 8. A 9. B
10. Diverges by nth-Term Test, lim a, == [ 11. C 12. B 13. B
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14. floof(x) dx = oo, Series Diverges | 15. B 16. x <7 17. D 18. 32




